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611359 OO — NEHEE 60
611361 OO — 3R 60
611361 fROO S 60
611364 OO — MR 60
611370 fROO — FRI2 60
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611370 fROO — MR 60
611370 FROO S 60
611373 OO — NERYIE 60
611374 OO — 3R 60
611374 FROO S 60
611376 FROO S 60
611384 FROO — MR 60
611385 OO — NEIX 60
611393 FROO — &2 60
611393 OO — EE(EE 60
611393 fROO — MR 60
611393 FROO — MR 60
611395 FROO — NEIXZ 60
611395 OO — F3RX 60
611396 FROO — F3RX 60
611397 FEROO — &2 60
611397 OO — FEE2 60
611405 B OO — &2 60
611405 BO0O — &Y 60
611405 B OO — F3RX 60
611405 BO0O — NERY)E 60
611407 HFOO — &2 60
611407 HFOO — FEE2 60
611416 =00 — EEMIKRIE 60
611416 =00 — FEE2 60
611416 =00 — MR 60
611416 =00 — NEERYIE 60
611417 =00 — 3R 40
611417 =00 — NEIX 40
611417 =00 — MR 40
611419 =00 — PRI 60
611420 =OO — &2 60
611420 =00 — MR 60
611421 =OO — &2 50
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611421 =00 — P EHEE 60
611421 =00 — NEI2 60
611433 =00 — FEHEE 60
611433 =00 — FEEEY) 60
611435 =00 — N 60
611436 =00 — FRIE2 60
611436 =00 — X 60
611436 =00 — NEHEE 60
611437 =00 — FEEEY) 60
611438 =00 — NEEMIKRIE 60
611440 =00 — NEISZ 60
611441 =00 — FEEEY) 60
611443 =00 — P EHEE 50
611443 =00 — FEIX 60
611443 =00 — NEEX 60
611443 =00 — NEREY)IE 60
611445 =00 — &2 60
611445 =00 — NEI2 60
611447 =00 — FERI(EE 60
611447 =00 — FREEEARZAM | 60
611447 =00 — NEEX 60
611450 =00 — NEEXL 60
611460 OO — &2 60
611460 OO — NEI2 60
611467 OO — PR 60
611467 OO0 — FEEEY) 60
611468 %00 — N2 60
611469 %00 — N2 60
611469 %00 — N3 60
611469 OO0 — FEEEY) 60
611469 OO0 — NEYE 60
611470 OO0 — FEHEE 60
611472 #£00 — N REAE 60
611473 200 — EEIXT 60
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611473 #£00 — &2 60
611473 #£00O — MR 60
611474 £00 — MR 60
611480 =00 — FRFEIRES 60
611480 =00 S 60
611481 =00 S 60
611481 =00 — FaRHENE 60
611484 EOO — NEM(EE 60
611487 #HOO — FERFEHRE 60
611487 #HOO — NEIX 60
611490 EOO — EE(EE 60
611495 EOO — MR 60
611496 EOO — 3R 60
611496 EOO — F3RX 60
611497 EOO — PRI 60
611497 EOO — %X 60
611500 #HOO — FERERIRE 60
611500 #HOO — NPEEEARIM | 60
611503 2100 — F3RX 60
611509 2100 — &2 60
611509 2100 — FEE2 60
611510 2100 — PR 60
611510 2100 — F3RX 60
611514 2100 — EHE2 60
611514 2100 — F3RX 60
611520 2100 — &2 60
611527 ExOO — &2 60
611527 EXOO — EE(EE 60
611527 EXOO — MR 60
611528 EXOO — &2 60
611530 #HOO — MR 60
611530 HOO S 60
611531 #HOO — &2 60
611531 HOO — MR 60




1062 FZ2HHEES —5 HFEEEB T
(FEEESRHEY)

=i 54 HERH L
611533 2200 — &Y 60
611533 2200 —TF#X 60
611536 2:00 — L= 60
611536 2200 — FEREE 60
611536 2200 — T EE 60
611540 2200 — T EE 60
611541 2200 — FEX 60
611544 200 — &YX 60
611544 2200 — T ERE 60
611545 200 — T HE 60
611545 2200 —TF#X 60
611547 2200 —TEREY 60
611547 2200 — T ERYE 60
611548 2200 — &2 50
611548 2200 — FEB(EE 50
611548 2200 — FER MRS 60
611548 2200 —TF#X 60
611548 2200 —TERYE 60
611554 E,O0 —F#&EX 60
611561 EOO — P& 60
611561 EOO —TF#X 60
611562 BEOO — &2 55
611562 EOO —THE 60
611563 #OO —TF#X 60
611569 EOO — e 60
611569 EOO — T HE 60
611574 EOO —TF#X 60
611576 FEOO — NEB(EE 57
611576 BOO — L= 60
611576 EOO — T HE 60
611577 OO — P& 43
611577 BOO —TF#X 54
611579 OO — FEX 60
611580 OO — FEX 60




1062 FE 2 HEEE —5 R BB TE

({725 PR )
el 2 EHEFHH T8
611580 #2OO — N2 60
611581 #2OO — NEI2 60
611589 OO — FHGEIRS 60
611591 00O — FBIE2 60
611591 OO — 3R 60
611591 £10)) — FEHEE 60
611592 H#HOO — N2 60
611595 #HOO — PRI 60
611596 #HOO — NEX 60
611597 H#HOO — FEE 60
611597 H#HOO — N 60
611600 EHOO — NESE 60
611601 OO — FRIE2 40
611601 EHOO — NER(EE 50
611601 EHOO — &YX 60
611601 OO — EEREYE 60
611601 OO — FMARBEAE 60
611602 OO —FESE 60
611604 OO — NEI2 60
611604 OO — NEEX 60
611608 OO0 — &2 60
611608 OO — NEI2 60
611609 #OO — FEIX 60
611609 #O0O — &2 60
611610 #FOO — PR 50
611610 #0O0 — FBI2 60
611610 #0O0 — N2 60
611611 #O0 — N 60
611612 #0O0 — FRIE2 60
611613 OO — NEMI(EE 50
611613 EOO — PRI 60
611613 OO — NEI2 60
611613 OO — N 60
612002 EOO — 3R 60
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612002 EOO — N 60
612003 FOO — &2 60
612003 F+OO — P EHEYE 60
612003 F+OO — NEHEE 60
612007 F+OO — NEHEE 60
612008 F+OO — NEHEE 60
612009 FOO — &2 60
612009 FOO — MR 60
612021 TOO — MR 60
612030 OO — MR 60
612031 %200 — FRIE2 60
612031 %200 — MR 60
612035 %200 — FRIE2 60
612035 %200 — EERY)E 60
612035 %200 — FEE2 60
612035 500 — NER(EE 60
612057 200 — FEE2 60
612066 #OO — &2 60
612066 #OO — FEE2 60
612067 OO — NEREE 60
612074 OO — EEE2 60
612074 HOO — FEE2 60
612075 OO — EEE2 60
612075 HOO — FEE2 60
612080 HOO — &2 60
612080 OO — MR 60
612080 OO — NEHEE 60
612081 OO — MR 60
612089 OO — MR 45
612089 OO — NESE 60
612090 OO — FRIE2 60
612090 OO — MR 60
612090 OO — NEHEE 60
612098 HOO — MR 60
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612099 HOO — N 60
612101 HOO — NEI2 60
612101 HOO — NEHEE 60
612109 %00 — FBIE2 60
612109 %00 — N2 60
612116 FOO — FRIE2 60
612116 FEOO — N2 60
612118 =00 — 3R 27
612120 HROO — PRI 60
612120 AROO — N 60
612122 OO — NEHEE 60
612128 OO — NEHEE 52
612128 OO — FRIE2 60
612128 5FROO — NEI2 60
612129 5ROO — &2 60
612129 OO — %X 60
612129 5RO0O — NEI2 60
612129 OO — NER(EE 60
612130 OO — EEREY)E 60
612131 OO — NER(EE 50
612131 5ROO — &2 60
612131 OO — EEREY)E 60
612131 5FROO — NEI2 60
612131 5ROO — NES® 60
612133 5FROO — NEEXL 60
612134 5FROO — FBI2 60
612134 5FROO — N2 60
612137 5FROO — FRIE2 60
612137 OO — NEHEE 60
612138 OO — FBIE2 60
612138 OO — N2 60
612152 OO0 — N 60
612153 OO0 — FRIE2 60
612153 OO0 — NEWHI(EE 60
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612159 FROO — NEHEE 60
612168 BROO — FPREEEARIM | 60
612170 OO — N2 60
612170 FROO — NEHEE 60
612177 OO — FRIE2 60
612180 #HOO — NEHEE 54
612191 B0O0O — FRIE2 60
612191 g0O0O — N2 60
612196 17O0 — FRIE2 60
612202 =00 — N 48
612212 =00 — N2 60
612213 =00 — NEHEE 40
612216 OO0 — 3R 60
612216 %00 — NEEX 60
612217 OO0 — &YX 60
612217 =00 — EEREYE 60
612217 %00 — NEEXL 60
612223 %00 — NEI2 60
612223 =00 — NER(EE 60
612234 EOO — NER(EE 60
612236 EOO — NEI2 60
612238 EOO — EEREY)E 60
612246 2100 — NEEXL 60
612256 #FHOO — NER(EE 22
612256 OO — NEI2 60
612257 00 — PRI 60
612262 200 — FRIE2 60
612269 #2OO — FRIE2 40
612269 #2OO — N2 40
612271 #2OO — NEX 60
612274 H#HOO — Fath3E 60
612274 H#HOO — Nt 38 60
612280 HOO — NEHEE 60
612281 #OO — FRI2 60
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612281 FOO —THX 60
612282 EOO = 60
612288 BOO —THE 46
612288 BOO = 60
612288 HOO — FHE 60
612288 BOO —THX 60




